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7~ ~ For each activity listed below, indicate where the activity would be recorded on
the expenditure side of our GDP accounting. Your choices are C, |, G, X (exports),
M (Imports}, and NR (not recorded). Give a brief explanation for your answers,
(1) An advertising agency purchases new computers for its staif.
(2) The advertising agency purchases toner for the computer’s printer.

+ ~ Why and in what way are fiscal policy fags different from monetary policy lags?
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A ~ Use aggregate demand and the mohéy market to explain how an increase in
government expenditures crowds out private investment.

# ~ Suppose that people in Taiwan decide they want to buy more American cars. This
increases the demand for U.5. exports. |t seems obvious that this should
improve the U.S. trade balance, yet this "obvious" conclusion is wrong. Why?

4+ - In an open economy why is savings not equal to domestic investment? How can
national savings be greater than domestic investment? How can national
savings be less than domestic investment?
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1. If Bradley Hak is responsible for maintaining information links both inside and outside organizations by
using mail, phone calls, and conducting meetings as datly activities, he would be considered a
a. figurehead.
b. liaison.
c. negotiator.
d. monitor.
e. spokesperson.
2. According to the systems theory, a beautician at a hair salon would be a(n})
output.
environment.
input.
transformation process.
. none of the above.
3. In order to determine how to deal with a problem employee, Sharon evaluated the employee, the problem,
and the context in which the problem occurred. She is applying which of the following perspectives?
a. Participative view
b. Universalist view
c. Autonomy view
d. Contingency view
4. The Feed and Farm has many problems with long waiting lines at each of its checkout counters. Which
of the following applications is likely 10 be most helpful?
a. Management information systems
b. Simulation
¢. Quening theory
d.
€.

ppoos

Break-even analysis
All of the above

5. McDonald's "We Love to See You Smile" represents a

a. ceremony,

b.  symbol.

c. ritual.

d. slogan.

e. political activity.

6. Color Copiers operates in a true global fashion, making sales and acquiring resources in whatever country
offers the best opportunities and lowest cost, what stage of international development is it in?
a. Stateless stage
b.  Multinational stage
¢. International stage
d. Domestic stage
e. Multidomestic stage
7. A foreign terrorist kidnaps your firm's marketing VP while the VP is in the host country. This is a harsh
example of
economic development.
infrastructure.
political risk.
international law.
social risk.

oo ow

8. Grant is a manager at Computer-Care Company. He is expected to consider the effort of each decision
alternative on all parties and select the one that optimizes the satisfaction for the greatest number of
people. This is an example of the :

a. utilitarian approach.

b. individualism approach.

c. moral-justice approach.

d. justice approach.

€. soft-line managerial approach.
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9. Which of these is true about a company with a sense of social responsibility?
a. It would be most concerned with the cost of poilution control devices.
b. Tt would only care about their stockholders and employees.
c. It would install safety control devices before the governmeni required them.
d. It would wait until the government required smokestack scrubbers.
€. It would follow the competitors.
10. As a way of implementing their differentiation strategy which emphasizes quality, 123 Corporation
decided to switch from an assembly line manufacturing system to a system based on work teams. This is
an example of which of the dimensions used for implementing strategy?
Leadership
Structural design
Human resources
Information systems
Control systems
L1, Kart is a manager at My Size Clothing. Her job is very complex and she feels that she does not have
enough time to identify and/or process all the information she needs to make decisions. Kari's situation is
most consistent with which of the following concepts?
Beunded rationality
The classical model of decision making
Satisficing
Brainstorming
Scientific management
12. Josh is a manager at Baseball Equipment. He is thinking about involving his subordinates in the decision
making process. According to Vroom and Jago, if
a. his subordinates typically go along with whatever Josh decides, their involvement is not
that important.
Josh does not have good information; there is no need to involve the subordinates.
the subordinates do not share in the goals of ihe organization, Josh should let them make
the decision alone.

d.  the problem is ambiguous and poorly structured, there is a need for Josh 6 interact with
his subordinates.

e. None of the above applies.

I3. Kevin's subordinates are highly trained and all perform similar tasks. Nichole's subordinates are spread
over two locations and she has little available in the way of support systems. Which of the following
statements is most correct?

Nichole's span of management can be larger than Kevin's.

Nichole will have problems with unity of command.

Kevin's span of management can be larger than Nichole's.

Kevin has more problems with work specialization.

None of the above.

R0 Oo®

e o

R0 o

14. Eagle Distributors is continually hampered by an inability to adapt to an unstable environment. Which of
the following is a plausible explanation as to why?

Eagle's structure is too loose.

Eagle's structure is too horizontal.

Eagle uses a vertical structure.

All of the above.

aand b only.

I5. Heather is seeing, on a regular basis, a difference between current and expected performance levels. She
should begin

to gather more data.

to implement change.

to perceive a need for change.

to change the reward system.

all of the above.

16. Keisha, a senior at Morgan University, believes that it is okay to get at "B" but more important to learn in
a class than get an easy "A" without learning. Keisha’s belief reflects which component of attitude?

e oo TR

o oo o

a. Behavior
b. Affect

¢. Dissonance
d. Feeling

e. Cogaitions
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18.

20.

21

22.

23.

Ed is a top executive at a cigarette manufacturing company who believes that cigarettes are dangerous
products and they kill people. This condition can be described as

job involvement.

extroversion.

cognitive dissonance.

machiavellianism.

job satisfaction.

Tcd has been unemployed for three months. When his wife asked him why he was not looking for a job,
Ted responded, "If T am lucky, 1 will get my old job back." Ted would be considered as having a{n)
external locus of control.

high conscientiousness. .

sensation and intuition type personality.

internal locus of control.

high Mach attitude.

The effectiveness and appropriateness of a set of leader traits depends on all of these EXCEPT
the organization.

the subordinate.

the leader.

the competitors..

e. bandconly.

Shakil is a new manager at Gomes Company. He has absolutely no experience as a manager nor does he
know the technology of his department well. These two factors prevent Shakil from directing his
workforce. This is an example of ___ impacting leadership styles and behaviors.

substitutes

neutralizers

contingencies

citizenship

transformation

oepos

oo ow

poow

o oo ose

Felix is a recent college graduate. He is unsure about hus future. A counselor in his university's career
resources recently told Felix that he had a high need for achievement. Based on this, what type of career
should Felix pursue?

He should look for work as a project mdnager.

He should think about starting his own business.

He should look for work in "corporate America," he is sure to climb to the top.

He should play the Lotto.

None of the above,

One of your fellow team members at work is continually disrupting the team's work with jokes and
general horseplay. You hope that by ignoring him he will stop this senseless behavior. You are
attempting to use which reinforcement tool?

Extinction

Positive reinforcement

Negative reinforcement

Avoidance learning

Desired behavior is reinforced annually

You invite one of your employees to your office to talk about his performance. Which of the following
seating arrangements will suggest to him that you are the person in charge?

You sit in an easy chair and your employee sits on the sofa.

You sit behind your desk and your employee sits in a chair on the opposite side.

You both sit side by side around a table.

You sit in a sofa and your employee sits in an easy chair.

Y ou both sit on the floor.

Shannon belongs to a horizontal team in her organization. She was selected on the basis of her title, not
her expertise. The type of horizontal team she belongs to is likely a(n)

a. self-managed work team.

o oo @R

o a0 os

o R0 oR

b. task force

¢. cross-functional team.
d. committee.

e. ad-hoc committee.




B P WA+ S5 B A AR
#8 %‘%‘3 (1) (BEE9 sy ‘fﬁf) x5 2ls

25. It seems that once a year the managers of Barbie and Ken's Corporation attemnpt a major organization
intervention, such as management-by-objectives. They never seem to be satisfied with the performance
of Barbie and Ken's and, sure enough, 12 months later, along comes another major intervention. By
implementing organizational change in this way, Barbie and Ken's management may well be violating the
principle of

benchmarking.

continuous improvement.

unity of direction.

top-down control.

none of the above.
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1. Felix is a recent college graduate. He is unsure about his future. A counselor in his university's career
resources recently told Felix that e had a high need for achievement. Based on this, what type of career
should Felix pursue?

He should look for work in “corporate America,” he is sure to climb to the top.

He should play the Lotto.

He should think about starting his own business.

He should look for work as a project manager.

e. None of the above,

2. Shannon belongs to a horizontal team in her organization. She was selected on the basis of her title, not
her expertise. The type of horizontal team she belongs to is likely a(n)

committee.

self-managed work team,

ad-hoc committee.

cross-functional team.

task force

3. Josh is a manager at Baseball Equipment. He is thinking about involving his subordinates in the decision
making process. According fo Vroom and Jago, if
& the problem is ambiguous and poorly structured, there is a need for Josh to interact with
his subordinates.
b.  his subordinates typically go along with whatever Josh decides, their involvement is not
that important.
¢. the subordinates do not share in the goals of the organization, fosh should let them make
the decision alone.
d.  Josh does not have good information; there is no need to involve. the subordinates.
e. None of the above applies.

pe

o ae o

4. Color Copiers operates in a true global fashion, making sales and acquiring resources in whatever country
offers the best opportunities and lowest cost, what stage of international development is it in?
a. Stateless stage
b. Iaternational stage
c. Multinational stage
d.  Domestic stage
e. Muttidomestic stage

5. In order to determine how to deal with a problem employee, Sharon evaluated the employee, the probiem,
and the context in which the problem occurred. She is applying which of the following perspectives?
a. Autonomy view
b. Contingency view
¢.  Universalist view
d. Participative view

6. Eagle Distributors is continually hampered by an inability to adapt to an unstable environment. Which of
the following is a plausible explanation as to why?

Eagle's structure is too horizontal,

Eagle's structure is too foose.

Eagle uses a vertical structure,

All of the above,

aand b only.

7. You invite one of your employees to your office to talk about his performance. Which of the following
seating arrangements will suggest to him that you are the person in charge?

You both sit side by side around a table.

You both sit on the floos.

You sit in an easy chair and your employce sits on the sofa. .

You sit behind your desk and your employee sits in a chair on the opposite side.

You sit in a sofa and your employee sits in an easy chair. '

o a0 op
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10.

12,

13.

15.

One of your fellow team members at work is continually disrupting the team's work with jokes and
general horseplay. You hope that by ignoring him he will stop this senseless behavior. You are
attempting to use which reinforcement too}?

Avoidance learning

Positive reinforcement

Negative reinforcement

Desired behavior is reinforced annually

. Extinction

Keisha, a senior at Morgan University, believes that it is okay to get at "B" but mote important to learn in
a class than get an easy "A" without learning. Keisha’s belicf reflects which component of attitude?

Paooe

a. Cognitions
b. Dissonance
¢. Behavior
d. Affect

e. Feeling

It Bradley Hak is responsible for maintaining information links both inside and ouiside organizations by
using mail, phone calls, and conducting meetings as daily activities, he would be considered a

4. negotiator. :

b. spokesperson.

c. liaison.

d. figurchead.

€. monitor,

According to the systems theory, a beantician at a hair salon would be a(n)

a. ouiput.

b. input.

¢. transformation process.
d. environment.
e. none of the above,

The effectiveness and appropriateness of a set of leader traits depends on all of these EXCEPT
a. the organization. .

b. the subordinate.

¢. theleader.

d. the competitors..

€. bandconly,

The Feed and Farm has many problems witly long waiting lines at each of its checkout counters. Which
of the following applications is likely to be most helpfui?

Quening theory

Situlation

Management information systemns

Break-even analysis

All of the above

It seems that once a year the managers of Barbie and Ken's Corporation attempt a major organization
intervention, such as management-by-objectives. They never seem to be satisfied with the performance
of Barbie and Ken's and, sure enough, 12 months later, along comes another major intervention. By

PRroTe

- implementing organizational change in this way, Barbie and Ken's management may well be violating the

principle of

unity of direction.

continuous improvement.

top-down control,

benchmarking,

. none of the above,

Grant is a manager at Computer-Care Company. He is cxpected to consider the effort of each decision
alternative on all parties and select the one that optimizes the satisfaction for the greatest number of
people. This is an example of the

moral-justice approach.

individualism approach.

sofi-tine managerial approach.

utilitarian approach.

justice approach,

o R0 e

sapop
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16.

18.

19,

26.

21.

22.

23.
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Kari is a manager at My Size Clothing. Her job is very complex and she feels that she does not have
enough time to identify and/or process all the information she needs to make decisions. Kari's situation is
most consistent with which of the following concepts? :

The classical model of decision making

Scientific management

Satisficing

Bounded rationality

Brainstorming

Heather is seeing, on a regular basis, a difference between current and expected performance levels. She
should begin

- to change the reward system.

to implement change.

to perceive a need for change.

{o gather more data.

e. all ofthe above.

As a way of implementing their differentiation strategy which emphasizes quality, 123 Corporation
decided to switch from an assembly line manufacturing system 1o a system based on work teams. This is
an example of which of the dimensions used for implementing strategy?

a. Human resources

b. Leadership

¢. Structural design

d. Information systems

e. Control systems

Ted has been unemployed for three months: When his wife asked him why he was not looking for a job,
Ted responded, "If [ am lucky, I will get my old job back." Ted would be considered as having a(n}

high Mach attitude.

sensation and intuition type personality,

internal locus of control.

high conscientiousness.

external locus of control.

oo oe

epop

o op o

Ed is a top executive at a cigarette manufaciuring company who believes that cigarettes are dangerous
products and they kill people. This condition can be described as

job involvement,

cognitive dissonance,

machiavellianism.

extroversion,

. job satisfaction,

Which of these is true about a company with a sense of social responsibility?

It would only care about their stockholders and employees,

1t would follow the competitors.

It would wait until the government required smokestack scrubbers,

It would install safety control devices before the government required them.

It would be most concerned with the cost of pollution control devices.

Kevin's subordinates are highly trained and ail perform similar tasks. Nichole's subordinates are spread
over two focations and she has little available in the way of support systems. Which of the following
statements is most correct? :

Nichole's span of management can be larger than Kevin's.

Kevin has more problems with work specialization.

Nichole will have problems with unity of comimand.

Kevin's span of management can be larger than Nichole's.

e. None of the above,

Shakil is a new manager at Gomes Company. He has absofutely no experience as a manager nor does he
know the technology of his department well. These two factors prevent Shakit from directing his
workforce. This is an example of __ impacting leadership styles and behaviors.

a. transformation

citizenship

substitutes

contingencies

neutralizers

opo o

oo op

oo o
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24, McDonald's "We Love to See You Smile" represents a
a. ritual.
b. slogan.
c. symbol.
d. ceremony.
e. political activity.
25. A foreign terrorist kidnaps your firm's marketing VP while the VP is in the host country. This is a harsh
example of _
economic development.
social risk.
infrastructure.
international law.
political risk.
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7% ~ For each activity listed below, indicate where the activity would be recorded on the
expenditure side of our GDP accounting. Your choices are C, I, G, X (exports), M
(Imports), and NR (not recorded). Give a brief explanation for your answers.

(1)- An advertising agency purchases new computers for its staff.
(2} The advertising agency purchases toner for the computer’s printer.

+ » Why and in what way are fiscal policy lags different from monetary policy lags?

Ry
A~ Use aggregate demand and the money market to explain how an increase in government

expenditures crowds out private investment.

# ~ There is a story that during the German hyperinflation when teachers got paid they
would take the bundle of money they got paid over to the classroom window and drop it
down to relatives so that they could spend it before prices rose too much. What cost of
inflation does this illustrate? Defend your answer.

+ ~ The model of the market for loanable funds shows that an investment tax credit witl
cause interest rates to rise and investment to rise.  Yet we also suppose that higher

interest rates lead to lower investment. How can these two conclusions be reconciled?
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1. Shakil is a new manager al Games Company. He has absolutely no experience as a manager nor does he
know the technology of his department well. These two factors prevent Shakil from directing his
workforce. This is an example of ____ impacting leadership styles and behaviors.

citizenship

substitutes

neutralizers

contingencies

. transformation

N )

2. Which of these is true about a company with a sense of social responsibility?
a. It would wait unti! the government required smokestack scrubbers.
b. It would follow the competitors.
¢. It would install safety control devices before the government required them.
d. It would only care about their stockholders and employees. '
e. It would be most concerned with the cost of pollution control devices.

3. Pelix is a recent college graduate. He is unsure about his future. A counselor in his university's career
resources recently told Felix that he had a high need for achievement. Based on this, what type of career
should Felix pursue?

He should think about starting his own business.

He shoutd look for work in "corporate America," he is sure Lo climb to the top.

He shouid look for work as a project manager.

He should play the Lotto.

. None of the above.

4. The effectiveness and appropriateness of a set of leader traits depends on all of these EXCEPT

pan e

a. the organization.
b. the subordinate.
¢. the leader.

d. the competitors..
e. bandconly.

5. Kari is & manager at My Size Clothing. Her job is very complex and she feels that she does not have
enough time to identify and/or process all the information she needs to make decisions. Kari's situation is
most consistent with which of the following concepts?

a. Brainstorming

b. The classical model of decision making
¢. Bounded rationality

d. Satisficing

e. Scientific management

6. If Bradley Hak is responsible for maintaining information tinks both inside and outside organizations by
using mail, phone calls, and conducting meetings as daily activities, he would be considered a

a. figurehead.
b. liaison.

¢. monitor.

d. negotiator.

e. spokesperson.

7. Grant is a manager at Computer-Care Company. He is expecte'd to consider the effort of each decision
alternative on all parties and select the one that optimizes the satisfaction for the greatest number of
people. This is an example of the

justice approach.

moral-justice approach.

“individualism approach.

soft-line managerial approach.
utilitarian approach.

LA
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11.

12.

13.

15,

i6.

One of your fellow team members at work is continuaily disrupting the team's work with jokes and
general horseplay. You hope that by ignoring him he will stop this senseless behavior. You are
attempting to use which reinforcement tool? '

a. Avoidance learning

b. Negative reinforcement

c. Positive reinforcement

d. Desired behavior is reinforced annually

e. Extinction

Heather is seeing, on a regular basis, a difference between current and expected performance levels. She
should begin

a. to implement change,

b. to perceive a need for change.

c. to gather more data.

d. to change the reward system.

e. all of the above.

The Feed and Farm has many probtems with long waiting lines at each of its checkout counters. Which

of the following applications is likely to be most helpful?
a. Simulation

b. Queuing theory

¢. DBreak-even analysis

d. Management information systems

e. Allof the above '

In order to determine how to deal with a problem employee, Sharon evaluated the employee, the problem,
and the context in which the problem occurred. She is applying which of the following perspectives?

a. Autonomy view

b. Participative view

¢.  Universalist view

d. Contingency view

You invite one of your employees to your office to talk about his performance. Which of the following
seating arrangements will suggest to him that you are the person in charge?

You both sit on the floor.

You sit behind your desk and your employee sits in a chair on the opposite side.

You sit in a sofa and your employee sits in an easy chair.

You sit in an easy chair and your employee sits on the sofa,

You both sit side by side around a table.

Eagle Distributors is continually hampered by an inability to adapt to an unstable environment. Which of
the following is a plausible explanation as to why?
Fagle nses a vertical structure.
Eagle's structure is too horizontal. '
Eagle's structure is too loose.
All of the above.
a and b only.
Y

oo T

paooe

Keisha, a senior at Morgan University, believes that it is okay to get at "B” but miore important to learn in
a class than get an easy "A" without learning. Keisha’s belief reflects which component of attitude?

a. Dissonance

b. Affect

¢. Cognitions

.d. Feeling

e. Behavior

As a way of implementing their differentiation sirategy which emphasizes quality, 123 Corporation
decided to switch from an assembly line manufacturing system to a system based on work teams. This is
an exampte of which of the dimensions used for implementing sirategy?

a. Structural design

b. Information systems

¢. Leadership

d. Human resources

e. Control systems

According to the systems theory, a beautician at a hair salon would be a(n)

a. input.

b. transformation process.
¢. environment.

d. output.

e. none of the above.
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17. . Shannon belongs to a horizontal team in her organization. She was selected on the basis of her title, not
her expertise. The type of horizontal team she belongs to is likely a(n)
task foree '
commitiee.
ad-hoc commiltee.
cross-functional team.
. self-managed work team.
18. Ted has been unempioyed for three months. When his wife asked him why he was not looking for a job,
Ted responded, "I [ am lucky, [ will get my old job back." Ted would be considered as having a(n)
a. external locus of control.
b. high Mach attitude.
¢. high conscientiousness.
d. internal locus of control.
e. sensation and intuition type personality.

19. A foreign terrorist kidnaps your firm's marketing VP while the VP is in the host country. This is a harsh

o o0 o

example of

a. social risk.

b. infrastructure.

c. international law.

d.  economic development.
e. political risk.

20. Color Copiers operates in a true global fashion, making sales and acquiring resources in whatever country
offers the best opportunities and lowest cost, what stage of international development is it in? '
' a. International stage
Multidomestic stage
Domestic stage
Stateless stage
Maultinational stage

o a0 s

21. Kevin's subordinates are highly trained and all perform similar tasks. Nichole's subordinates are spread
aver two locations and she has little available in the way of support systems. Which of the following
stateinents is most correct?

a. Kevin has more problems with work specialization.

b. Kevin's span of management can be larger than Nichole's.
¢. Nichole will have problems with unity of command.

d. Nichole's span of management can be larger than Kevin's.
e. None of the above.

22. McDonald's "We Love to See You Smile” represents a
ritual. '
political activity.
slogan.
ceremony.
symbol.
23. Ed is 2 top executive at a cigareite manufacturing company who believes that cigarettes are dangerous
products and they kill people. This condition can be described as
a. cognitive dissonance.
b. job involvement.
c. machiavellianism.
d. extroversion.
¢. job satisfaction.
24. Josh is a manager at Baseball Equipment. He is thinking about involving his subordinates in the decision
making process. According to Vroom and Jago, if
a. his subordinates typically go along with whatever Josh decides, their involvement is not
that important.
b. Josh does not have good information; there is no need to involve the subordinates.
¢. the problem is ambiguous and poorly structured, there is a need for Josh to interact with
his subordinates. )
d. the subordinates do not share in the goals of the organization, Josh should let them make
the decision alone.
e. None of the above applies.

LIPS




SERNIPE PR SN Ut e e
}%@@?(ﬂ) [ @i%ﬁﬁﬁﬁﬁﬁﬁf?ﬁi) 4 Yn ﬁ%ﬁ

25.

It seems that once a year the managers of Barbie and Ken's Corporation attempt a major organization
intervention, such as management-by-objectives. They never seem to be satisfied with the performance
of Barbie and Ken's and, sure enough, 12 months later, along comes another major intervention. By
implementing organizational change in this way, Barbie and Ken's management may well be violating the
principle of

unity of direction.

benchmarking.

top-down control.

coatinuous improvement.

none of the above.
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